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AER [ERADEVS|(UT [E€U5]) 2E-> THAE MR T 2FBEDONEFBEND. %
LT, T&W5] %> THABRESDONEREZIRD OISR S NEFBEM TY,

NERBELWREPHABEDZODEARTTL S, FREERBHPEKRTFENHEE Lo PN EYX
2—FBDEFHNET, L L, EREEROEBPFEOHIEL OPREE. [€U5] OX
B/ — RO —IPAFIEFB LT TREPELPHICHEE LA, FEENVELDONEETLIC
BEEL, ThERBRIFENIEEZLDICEBICE, W—ILXAEBFIDFEICHENT. BANWEHEE
EESEIERKRE. RWT. EASMWEN L DBRERADD EICAS DX EEZICHKRE. &
50 EASNAENEEFEVWENSAPDEAZEHICRHETIRERBLELZTOLENHWET,

AEE, COEOEREEBL. (NHUAMPNEBALETIRFICFEVRIL, BADKE, EBEY
EANLGFECHEEB CEZ3REMB. QFBEIBPONEESZIETELALEY S, Lhrd
PMRICEFFICHL LD GHRBMBA. 2 LT Q) RBENGHREL LT ZBLANEEES T,
[EUB] TRLoTVWBWVAWAE REY Z7IZ2VW T, B2, Rk £z 2XRET 2RBHE
ERELTWET, £/ BREERICE - T BMEONEZEE L SHHEIEPHEHEED
FEHLEDOETTE, S50 WEADMBEANEEBRIRESLOICHEELELAE, BREL T,
NIIT1—BPrEABRE. REVABBEEERBEA LTI T 7IlE-DOTREVHLERWL
S

EREEBREOGEEMEIE. IVHLAE. I RN —KPEHAARESRK. NTAKRKZE TULZ
brinflll, BERERAZTHAL TWALZE U, < SADEREIAL MELKEE 584
DEZIAEAAPERNEEH TSI 2 EEAIC, ZZIIEHBOEERLET, Z LT, 2O
D=7y 7 ETHEVRTUOHICREL TS o7k (AULBEMEETOTIIIREF S AIC
BILERLETES,

2009 FIC [&UB] PHTEINTHSIEIRESL, [LUSDE] IFB/AE. LK 7O7. 4+
TZ7H5IA—0Ov/S, FERNEREZLLEINDDOHWET, ZOR. FEZOEHD S IE. Xk
D=7y 7 EVWDHZDPEVIHVEDEEAED W EEF L [E/-2 & 5EFH](2010).
[BEDOFE ] (2011) ICHEN T, I RKEENIBRL. [£UB] P U-—XA4P» IR THI- 2
EWCBYET, AMOBRLE. ERENH42 P SIFBHNABRCHELNDEEL /K SAVLEE
Flo COBSICEDETHILERLLETFET,
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[IED «

) DHICELBHAEANEE . THASHMEEE X EBEFE L,

Insert the appropriate particle into each ( ). If no particle is necessary, mark X.

1

2.

D

REBAC LI EBRIBCIE( )RBUATIUELTAHL
COTF=I A NIGHSH( )L I, BRICIEIKR( ) TEFARSS,
HLOWEFIEAVWTOHEL L. WICE 05 sw( )2 ( ) H b,
ﬁﬁl:fgﬁ%ﬁ““ Vg s ()L, F( )L TE,

[BF A=) ( )V IDREA=L( )T

RET 5] ( )il BZoBERRS( )V I )l
COTN—= ML B ) EFL R T, HE( )RV,

) DD 5 B EEE B E RO,

Bk CTELS

Select the most appropriate particle to complete each sentence.

1.

2.

:mg'ﬁti\ 3 7) — b (eonerete) (T /7 56 /45 /10) TE T\ 5,
SORYIL 1900 F (T DA R) TEET G £

RORDFL (T /b /5 1) LVESTE 7=

SDTA L 7T N = (eranberry) (T 5 /% /12 TF T 5,
RON—LA=FE, LTEEFITHIE(T & 47/ 12) TF 5,
BR(T,/ %/ 5 /10)TEEb, 7VET—L%F52% 1) 75

Y9 AZ LcomD LAY ) VEELZX(T % /95 /1) TE 5% 951,



[Noun (T 05} THB| EED TUEEDHEE, 1.~ 3. 4 A& BOEFEE1DFD
BATRLEEL, [TEZ] & [TETTND] OBRICHERLEEL,

Create sentences using [Noun{ T/ #* b} T ¥ % |. For questions 1-3, use one word each from boxes A and B. Decide
whether [ T¥ %] or [ T¥ T\'5] is more appropriate.

A1 B - 17500 ¢ L5008
24V FRYT « L A7 (brick)

3. 20% LT up)
1, o
2. o
3. .
4. TARZ) =4l .
5. SHIXBRDE T, o

( OFRSELLHERUEEL,

Select the option that corre¢tly completes each sentence.

1. 2ORD (WS L)AL OALON W ER G,

2. TORM( LX) ) AlLB

3. Eﬁg’g)ﬁvﬁ%\ﬁ\ DXRF DA TORD (W LX) YRS,

4. ZOFED(KFW / REX)EFRATELEL AT LA,

5. SOHMEILARHI(RIV /REX) TF 4,

6. (Ev»rtcb EIE51b). %@ﬁ%ﬁ%(ia‘%') T WT AT L,
7. :o)zsm(g%@\\/%ﬁtﬁ)’é%:o’(\\f: L5, Ebfut - rBunET,

8. RRDEIL(B\ /BI)T ) TTH, ZDOE N EI)IIYL ) TTH,
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[Adjective-stem + & ] Z{E>T. FIOKSICEETRRLEELN,

Rewrite the following sentences using [ Adjective-stem + ¥ | as shown in the example.

B BAPLDSCLWRIOABEALTT IV, > BERORIIEHATT I,

1. [dziji/& (situation)] Z >S54 \/tg;ﬁ%ﬁﬁ LTWD,

:@#4#Kui5%5ﬁﬁﬁh<éhﬁéﬁ\Emcgwéw#%UTtw
PLBEATHA

D% A Fl:(iif%ﬁﬁ‘ﬁ%iﬁ“t( IALH LB,

o

2. COBEVEDSSWERANL, FEoALLGD LTV ERONES,

!

oA LDgH 5w

rRWNET,

3. AL, HEAFLDCHUVE N I L0 ¢ BB h 0T IR TT

—F121L, o

4.:@3y51—7ﬁ800%w§<TZ@C%w%w#%otB\%@%L<t
LrBVET L,

- . %’n:%é‘(t<ﬁ‘%>z?’&
- AL
WET L,

[ {Noun @, Verb} & 31C %ffE> TXEFERE B,
Complete the following sentences using [ {Noun ¢, Verb} & 9 2.
1. O REIL BARZED XEH
Ly h ST
EFIHATE B,

2. %X EE L b, o ‘@\i\ﬁ\ﬁ“ﬂ}ﬂf:o




3.:@%%@#@Au Eiéof%‘%@ﬁﬁgu
@wfwt%iﬁo

4. BRI AL »h
TV ES,

[~@~(TE)THEBR/MSNTNG) ] ZESTIERRELHE, 1.~ 3. 31
ERT. XEEDES,

Complete the following sentences using [~ &~ (Z ¥) T{HAH 7 %954 T 5} |. Base your answers to questions 1-3
on the pictures below.

OO KLYBFiETaT54

®oa—
Aa-z.2%@
B3-a~3%A
Ca-z-4%MA

B iﬁ%{ﬁ(iﬁ“?ﬁ%?ﬁ“f:< IAHHIETRLNT S,

1. LA+ KR« 7« 2% > F)Leonard da Vinci) |

o

2. COBARET 0T T LIL

o

3. TOLVRFTVIL

4. 7L 7Y ¥ — « 75,7, X)L (Alexander Graham Bell) [

(EDa0)
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6. ORI DT,
FMINFET A ITLFE LA,

[Verb-non-past & {6} $2 | ZfE> TXEETRRLE .

Rewrite the following sentences using [Verb-non-past < ¥ {#*/ £} & 5 |.

1.:@@§Tu‘%ﬁwﬁu§ﬁ%Ui¢o

2 OH T, s
5 (39

2. ZhT7uH— (blogger) 3. E%ﬁf‘fT%Eé“%ﬂ%(article)%%(75“\ Br A Y (L
SFLhVWERELE L,

N7 afs—I1.

[Verb-non-past T & {h'/ 6} 53] #E ST XEFME BB\

1.%Mtwfwﬁ#@ﬁgfﬁfﬁiﬁ&%ﬁ\

o

2. ADEIL A Al R g
\\\\E;ji‘%\\o

3. AV IF7A VY TEMI RS H L,

o



RI%E /-3 ACB@%%E1D¢D§U\HMWV@%WWWMND/NUE5ﬁH3MWMC
(K> TES KB} ] Z#E>TXEEDIEEL,

Create sentences combining one sentence from box A and one word/phrase from box B, using [ {Noun; ,Question-word ~

/S~ ) B Noung 1ISH{L - T&9H /L 5B}

A D BEEE LT, B @Rz

| LIN=77a2 7 FIELWTT A, - Ta7 74
2.2DEDHL—ILED <“l‘o\‘i\"(“?"7§‘o : :,ﬁ%‘(:ﬂ'%k
S EFILWL Lo h ) 44 AR (kind)

i ?5%%75“% Luay ) ald, B&EICLY £7.

1. o
2. o
3. o

EERE T (Noun; Question-word <1 = h & S0} 1 Noun, IC (&> TES / &3} | ZE-TH
RICERBE L,

Answer Mr. Lee’s questions using [ {Noun; /Question-word ~#*,/~#"¢ 9 #*} < Nouny 12 {L - Ti& 5 L %} .

1. )= BRAIEAZVWTWEBALTENT T,
B o R
HAHEAL
BT OBALVET L,
2.U—:E$TuﬁH%K%<HUiT#°

RDEITIX, 20T 10 ﬁ'fgﬁ‘ﬁ;%< T ET,

CEPIAE, ZEAEECLVHMELE D,
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EEED) rvero-masu thp %] %fES TRONEFHEBHEL, 1. &£ 2 16 I hSELTEE
EBUEELN,

Complete the following sentences using [ Verb-masu % ¥ % ]. For questions 1 and 2, choose the most appropriate words
from the box below.

%< HC BT OR(nA

1. A RISE > T 2o T P hURESTR TRV,
L3 T CEEY LRI,
2. AL EA T IEHS LRD—BBE ., —FHO O
11 A%,
8. BATIL, 6&RTIFRIS .
4 AL IEWIF I — % CEENBEBORE
5. TEME BHRASE A - -4 . 2EE D LA 12,

D) 713 Sentence LEBNTN\B] %EES TERHEEHEL.

1. BARAIL o

2 /AR
Fuld %@ﬁﬁtatﬁpwtﬁio

3. BRI DT,

BR—ATHEFOTERL KRS,

Foled 30



) cz87<. [~en(~Eh)] ZEL. XEZREEHEEL,

1. #ld. CBEAPATIIT > T\,

2. RFEBRITH75

3. REFEELEL. B ThT-\,

4. BAR & U\ IL, A

VMY

[~&EWSDIFANoun DT & Noun £S5 T & “Sentence &LVS T & “Sentence £S5
R} 2] 2D TEETRAEEL,

LVIFZPHAAL BTV INHATTY,

2. [BAV71L] 3 TTH,

3. [RES L] OFARIE [1E2EXH5] T,




K gl EREZE

EEARED T~&EWS DI {Noun DT & /Noun &ELVS T & ~Sentence &LVS T & Sentence &L
=R} 2] ZfED T F%i 51’17’C§§J %EHEH LIEELY,

Explain each of the words provided for the sentences below using [~2\ ) DIE{Noun ® T ¥ /Noun ¥\'9 Z ¥/
Sentence ¥\ 9 I ¥ Sentence ¥\ ) &%k} 721,

1. [Tevs] o [ROERF

2. [avE=]

3. "4 )]

4 (WY %)

[~ {THEL (L » BN 0] EEOTXERREEEEL. 1.~ 3.1
DSBS EREBA TREFDBEL,

Complete the\following,sentences using [~ 7217 { T < (T) /L » % { (T)}. ~ & . For questions 1-3, choose the
most appropriate words/phrase from the box below.

HHOEARSFAN DAL Ret RR

1, BRIAT- 75

2. 2O T7HA kI

3. JOHET(X




4 RORFBOREDERIER. THOHT 7Y RIUEL TN A5,

5. EF i 58, Bok%

FulL Z DBREHKREF F 12,

1.~3.1& MNoun > T EfE> TEBEMIBLE, 4. &£ 5.(& [Noun >TJ ZEfE>T
KREEFRETEEL,

1. ) =IAEFAFE? — ?
2. VaVIAOBRIMTHEEL? — ?
3. B¥TH5DIIREEFK., = o

4, [dﬁzx& (situation) ] %mf?—:%q@iﬁﬁlv:?b\t% LTWD,

)—:1 RIRILA. 7

AIR:9AL, TEH. %@’J}%%Z’)T%gé\‘ﬁ‘fo\ B 7Tt

5. [é{ﬁgg(situaﬁon)] HAZBDOMRICDWVWTCEL TS,

)— 1 Z3IRXA. o

AIR YA, BEREBOBRBOF T, ZTHH—FRE L1,

10



K glg ILWRAES

[~2TI{ES/M< /B et} | ZEOTREETZREEEEL,

1) =t RIRIL, .
LIIRIK?

Fole) 5

RIR )L FROR. K. RAES L. SBIEE I AKX K.

2. V— I RIRXAL. TOEF. FL?

RIRT ) A, BETRED

o

3. D3R (siwation) ] U—& 2 = 2 NRBEORITHIC,

TH5 L,

AIR 1 Ho. i}i;i—‘:f_ Cx. #FTEHRNLMD A,

o =

IO XFELREE > TRBERRE AL,

Complete each®f thefollowing conversations using all of the grammar items in the box.

1.] ~en(~¥s)  ~L91

Q:»hu/-nEIZIL Z“Lﬁ‘ﬁfﬁﬁé’gﬁ‘ﬁ%ﬁ% V=S AR
A: L BAY
4%%313%’1‘1??7?% DES,

TAYHITHE

2. ~I{L->T#Y) LB} ~45 5

Q: HEAOETHOSENLEA Y ETh,

A:




12

~THEEE LT\ 5} ~7EF e i< (0)

L RAPBAE (i) FARA B BOIE REATACESLTT

19

I, T

~XWVWI)DlEI~ ~XThbNTS

[ERT] OFRKEF > TV E T

AR C)
Bl AL, ©

7=

~ (Topic) » C ~’)T%< /

Q:2HOTART)—4 4'?*

T%éﬁf‘inm?

A:9 Ao B & 5% % XU (Japanese horseradish) DBk 1, § 5 (to taste) 1T ¥, ;)H; (T

BuolLluwh,

~>T{VI) /B EL) ~Te kb B

Q:BANERTIL.
BAHA

TY. RE-2rH5?

A9 A, ROEFIT->HLEBRICEEI VAL,
F*r A BALA X5



K sl LAKRE

CIOXRFELBEST. BAICOLTORBEERREEHE L.

Complete each of the following descriptions of Japan using all of the grammar items in the box.

L]~ ~H{T/ H»5T*5b

E$u\%ﬁ§Z§wznmwatw5@

w9 Fniln)

() Za—Y—F7VFERLCL WA,

2. ~Hh(CIMIE~IT{L-TEH) LB ~ruvIionld

BARIIAE LW Y THELE, @

b 724

ﬁ\gﬁfdlﬁﬂﬁbU\%ﬁﬁ?dSHKﬂoT#%ﬁO%ﬁ
%(K\Akurﬁij§%tmfﬁﬁjw
CYOUTHARORLELWVTED

IRSYERA-R oY (AR

.| ~7H{THLC(D) Ao (O ~1 ~YH(~2H) ~tI

BERMTS A~ LH0wBFE RITITCAIRZVAES 9, LA L (however), B AL

FIET I fIZL @

k3ol

TALLHITE

N LR SR ATER IAHBH*, BARIC

To756. ©

BLALET A, CHEBERODc<Thd o~ [£U5] p.10)

13



 E & #H

[TED) 5 OENNOMELTEIC OV THALEE. [ ORBETEILILIEA
UL,

Describe the geography and climate of your country or town using as many of the grammar items from the box as possible.

~X ~L I ~5 (L) 1I~1{k->T&) L 5) ~45H 5

E - BT &%) :

L) &5 OEDBOSMRERICONTHALEEL. [ ORBETEIRIRSA
UL,

Describe some 'of your country’s or town’s famous products and places using as many of the grammar items from the box as
possible.

~{T/ L} TETWS ~THEAEE LN T\ 5} ~&II
~2¥{» b HBE ~XEbNTNE ~uh ()
~Y\VWIIDIE~{DTY )T S ER L
~7ZH{TH () /LB (O} ~1






